

## Divide by $10^{-3}$ (A)

Find each quotient.

$$23 \div 10^{-3} =$$

$$84 \div 10^{-3} =$$

$$8 \div 10^{-3} =$$

$$52 \div 10^{-3} =$$

$$7 \div 10^{-3} =$$

$$10 \div 10^{-3} =$$

$$92 \div 10^{-3} =$$

$$6 \div 10^{-3} =$$

$$38 \div 10^{-3} =$$

$$72 \div 10^{-3} =$$

$$97 \div 10^{-3} =$$

$$9 \div 10^{-3} =$$

$$52 \div 10^{-3} =$$

$$15 \div 10^{-3} =$$

$$74 \div 10^{-3} =$$

$$68 \div 10^{-3} =$$

$$2 \div 10^{-3} =$$

$$57 \div 10^{-3} =$$

$$91 \div 10^{-3} =$$

$$59 \div 10^{-3} =$$